- JERRY CAN/ACCESSORY TRAY
s NS OANTILL R EANTE O N T G U D R



DISSENTS?

—OFF-ROAD—

With the Accessory Tray or Jerry Can Basket, the plain and
hitch risers install to swingarm using the 1/2" bolts provid-
ed in your hardware Kit:

TIP: hitch should face center of the vehicle

Next, use the 3/8" bolts to secure the crossbar in the middle:

Finally, secure the basket to the risers using the 1/4-20 counter-sink bolts:




DISSENTSY

—OFF-ROAD—

If Jerry Can Basket was purchased, it is assembled using the separate hardware kit. This kit
contains twelve 5/16” bolts required for the final step of the Triple Jerry Can Basket
installation process.

Use five of the 5/16” bolts on each side for of the tray’s side panels. Use the remaining two
5/16” bolts to secure the back/bottom of the tray’s back-plate:




